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FExam. Code:

B.A./B.Se. (General) 2™ Semester
(2053)
GEOGRAPHY (In all Mediums)
Paper : 1V Cartography—II
(Only for USOL Candidates)

Time Allowed : Three Hours] [Maximum Marks : 20

Note :— (1) Attempt FIVE questions in all.
(2) Question No. 1 1s compulsory.
(3) Attempt ONE question from each unit.

1. Give answers to any FOUR of the following in about
25-30 words each :

(1) What is GPS ?

(2) Define Map.

(3) Give any two qualitative methods for showing relief.
(4) What are Hachures ?

(5) Vertical Interval and Horizontal Equivalent in Contours.

(6) What are Isotherms ? 1 x4=4
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UNIT—I

Write a detailed note on the concept of Global Positioning System.
4

What do you understand by Map Design and also discuss

the major clements to be kept in mind while preparing a

map ? I+3=4

UNIT—II

Explain with diagrams any two of the Pictorial/Qualitative methods
4

to represent relief on the maps.

What are Contours ? Discuss some important salient features of
contours. 14+3=4

UNIT—III

What is a weather map 2 Write a detailed note on the importance
of weather map. 1+3

Draw Symbols of any FOUR from the following in weather
map :

(@) 1/2 Sky Covered
(b) Cumulonimbus Clouds

(c) PureAir

(d) Haze
(e) Rain
(t) Sleet 1 >(4=—'
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UNIT—1V

3 . S | ) , . ‘
8.  Drmawan magnary weather map of India for the month of January

4

9. Write a detailed note on the history of weather forecasting in

India, specially some recent advancements in this field. 4
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(1) GPS st & 2

2) za® § ufgsfas =91
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(6) AH3Y Iyt & T& ? 1 x4=4
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(b) faQuEféan =&
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(e) Htg
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4

9. g9z &9 ¥AH &t sfeuwst @ fefsom wm 39 '3 fom ¥39

ffg g5 3w 33 w3 f¥a fenfys &2 fou 4
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